oS 187 & AABC oA AB = 4em A
,BC =8cm, /B=60°<¥ o}, AC ¢] Z4o]

@ 44/3cm @ 5v3cm
® 6v3cm @ 5v2cm
® Tcm

>C

. H _Z
“~-8em-

AH = 4sin 60°
V3

HC =8-BH
= 8 — 4 cos60°
=8-2=6
AC’ =AH +HC o= &
AC’ = (2V3)2 +62 =12+ 36 = 48
. x = 4v3(cm)




ohe 2”3 22 4H7Fg ABC oA AC €] dol=?

D 37 @M? ® 57 @ 67 ® 7V7

ﬁ:ﬁxsin60°=4><sin60°=4xg:2«/5

ﬁ:4cos60°=4x%:2
~CH=12-2=10
AC = /(2+3)2 4 102

= VI2+ 100 = V112 =47




3.

th2 1387 22 AABC 9|4 &) h & F513A?

A

v\

- Hogp -

® 10(v2-1) @)10(V3-1) ® 10(V3- 2)
@10(2\/5—1) @10(@-2)

B

2
h 0

~ fan (60° = 457) + tan (90° = 30°




® (3- V3)m @ (3v3-3)m
@ @V3+1m  G)EVI+3m

® (4V3-1)m

S =olE h 2 otH

/CBH = 45° 0|22 BH = &

(CAH = 30° 0|22

6+h:h=+vV3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1)=3v3+3(m)




Ds5vi @6z @2
@ 82 ® 92

B

= AolA BOol W 549 @
2 Het o

BH = 14c0s30° = 14 x \/75 =73

ﬁ=14sm30°:14x%=7
CH=AH=17
AC =72




o8 13}t Zo] AABC oA LA =
75°, /B=60°, AB=10cm & o,
h ©] Ao|E FohH?

57‘5(:111 @ 10cm
@5x/§cm ® wcm

T3} o] B4 A o4 BC o] Y& 540
AD

i °= — O|H=x

sin 60 10 ]

AD = 10sin60° = 5 V3( cm)




7. o2 O™ A7 ABCO C
A AABC 9] =0] h=2? '

@ 30(V3+1)
(@)40(«/§+1)
0(V3+1)
( )
( )

®
@ 60(V3+1
® 80(V3+1

5
6

B

e 80

tan(90° — 30°) — tan(90° — 45°)
3 80 80 80(V3+1)
~ tan60°—tan45° 3-1 = 3-1

40(V3 +1)




8. TF& AABC oA &o] h=?

® 53

/BAH=30°°|E2 BH=AH =9
h = AH - sin 60°
V3

X5
_9v3
2

o ©




9. the I ROl ol h & Tatelet (F, VB = L7 2 AN

=9
M

/BAC = 30° o]B&2
BC = AC = 20(m)
AACD ©f| A

h = 20sin 60° = 20 x ‘/75 =10V3=10x 1.7 = 17(m)

Soh=17m




10. t}23 -2 AABC 9|4 AC o] Zole Fatolat,

\VARR 4
0
i

46

B
VB

ﬁ:SXSin6O°=8xT=4\/§O]E§

— AH 4v3 83 .
C=COS45°= ﬁ - V2 = 4v6olt.
2




